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Lösungen:  
Schriftliches Subtrahieren (2)

1.
c) ist falsch. Richtig ist es so:
	 804454
	 –   23300
	  1          

	 781154

2.
a) 	40 100, denn	 14454
                            	 + 40100
		  54554

b) 	11 010, denn    	 28002
                          	 + 11010
		  39012

c) 	102 005, denn      	110304
                             	 + 102005
                                	 212309

d) 	10120, denn     	 794334
                          	 +   10120
                             	  1

		  804454

3.
a)	 212309	 b)    804454	 c)    870400
	 – 194598	   – 203359	      –   28500
	 1 1 1 1  	 1 1 	      – 220200
	 17711	      601095	   1 1   

			   621700

4.
a)	 45390	 b)    869256	
	 –   4590	 – 100890
	 – 24562	 –   23167	
	 – 10008	 – 241911	
	  1 1 1 1   	 2 2 1  
	 6230	 503288

5.
a)	 R:   20100  	  
	  – 15558 	
	   1 1 1 1    	
	      4542  

A: 	2011 waren 4 542 Läufer weniger ange-
	 meldet als 2010. 

b)	 R:   23108 
	 – 15558
	  1 1 1     	
	   7550  

A: 	Die Differenz zum Rekordjahr beträgt 
	 7 550 Läufer.


